= MF-H®3 RYE /% L1

P.C.D#D1

D6

L6

L5

+

f

N7

H1

— L

Shaft Option 1(K)

Shaft Option  2(S)

(B8fiz:mm)

Size(mm)

MF40H-L1

MF60H-L1

MF90H-L1

MF120H-L1

MF150H-L1

MF150HS-L1

MF180H-L1

MF180HS-L1

D1

50

70

100

130

165

165

215

215

D2

3.5

5.5

6.8

8.7

1

1

13

13

D3

13

16

22

32

38

38

50

50

D4

35

50

80

110

130

130

160

160

D5

15

18

25

35

40

40

60

60

D6

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M12x1.75P

M12x1.75P

M12x1.75P

M12x1.75P

D7

55

80

118

158

190

190

245

245

L1

42

60

92

120

142

142

182

182

L2

50

65

75

86

95

105

L3

5.5

7.5

10

12

15

10

20

L4

0.5

1.5

1

1

3

2

2

L5

15

20

25

40

45

45

70

70

L6

2

3

5

3

5

5

6

6

L7

49

58

69

90

79

L8

8

12

15

20

32

32

42

42

L9

7

10

12

15

15

12

15

15

C1

46

70

90

145

200

200

200

200

C2

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M12x1.75P

M12x1.75P

M12x1.75P

M12x1.75P

c3

5~8

6~14

14~19

16~24

19~42

19~42

19~42

19~42

C4

28

33

39

65

88.5

88.5

85

85

C5

30

50

70

110

114.3

114.3

114.3

114.3

Cé

4

4

5

7

6

6

10

10

Cc7

42

62

92

120

176

176

182

182

cs

34

49

78

98

98

100

100

(03]

93

263

263

c10

12.5

15

47

47

C11

56

160

240

240

7.5

7

20

35

35

17

B1

4

6

10

10

10

14

H1

14.5

18

245

85

41

41

53.5

53.5

URECI~-C12RBENERERRT BRRISRAFTELRTIEAMES, AN FECHWMKFE151-1528
FEMF150H-MF180HAESERFEN HRE SN HRE

Sune Wel




